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Factoriser

Solutions des exercices

I) 6
1. 1—2)P+2°-1 = (1—2)*+@+1)(x-1)
= 1-2P?-(+1)(1 -2
a(6x —15) + b(4x — 10) = 3a(2z —5) +2b(2z — 5) — —)(l-2—(z+1))
= |(22-5)(3a+2b)| I T
2.
42 = z(1+4 ) II)
1.
3.
2
1-—2)?+z-1 = (1-2)—(1—-2) xQ—x—&—i = (m—é)
= l-2)(1-2-1)
= [(1-2)(-2) 2. -
) 3 , 11 1
4. 6z +3:v+8=6(x +x+16>:6(x+4>
1—-224+ 4z —2)2 = 1-224+(2(2z—-1))? 3.
= 1-2z+4(2z - 1) 22 —16 = |[(z+4)(z—4)
= —(2z—1)+4(2z —1)?
= (20— 1)(~1+4Q2z 1)) 4.
= (2z-1)(-1+8z—4) 20° -1 = |[(V2z+1)(V22—-1)
= |2z -1)(8z-5)] 5
5. 402 =9 = |(2z+3)(2z-3)|
2-3z+(22-3)3x—-2) = (2—3z)—(2x—3)(2—3x) 6.
= (2 8)(1- (20~ 3) 1 o e 3 (o
— (2-32)(1 -2z +3) (#-3)" = (22 +1) - ‘((3xi;)§2—x+—14)))(‘ 3—(2x+1)
= |(2-32)(4 - 22)]




